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2963 - 389
T.E. Computer [Revised]
DATA COMMUNICATIONS

Answer three questions from each section,

Answers to the two sections should be written in separate books.
Figures to the right indicate full marks.

Use of electronic pocket calculator is allowed.

Assume suitable data, if necessary.

SECTION - I

a Explain the working of Superhetrodyne AM receiver.

b. A modulating signal consist of a symmetric triangular. Peak-to-
peak voltage of 11V. It is used to amplitude modulate carrier of
peak voltage 10V. Caleulate the modulation index and ratio of
side lengths L1/L2 of the coresponding trapezoidal pattern.

OR

a. Explain the Function de-emphasis and pre-emphasis used in the
M reception.
b, Explain the methods of SSB generation

. What is Eye Patiem? Explain the relevance of it in the
communication system.
b, Comment on the effect on reconstruction of signal due to real life
limitation
1. Analog signal o be sampled is not strctly band limited.
i, Practically reconstruction low pass fiteris not ideal -
How to overcome the above limilation.
OR
. Write a short note on Pulse Time Modulation.
b. List the properties of line coding. Encode the following data
strcam using RZ, NRZ, AMI, and Manchester.
10100110

o Explain wrt PCM Noise immunity, Quantization noise and
companding

b. Draw a block diagram of Delta Modulation Transmitter and
Receiver. Comment on slope overload error..

OR

a. What is Adaptive delta modulation? Explain how it improves the
tolerance to slope overload.

b, Explain the Scramble and Unscramble operations.
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SECTION -1

Explain the Huffran coding. Five messages m0, m1, m2, m3, m4
have: the probability of 0.1, 0.1, 0.1, 0.3, 0.4 find the Huffman
code for the same..
‘What is hamming Distance. For hamming distance of 4 how many
errors can be corrected.
Comment on error detecting capacity of CRC code.

OR
An Analog signal has bandwidth of 4KHz. The signal is sampled
at 3 times the Nyquist rate and Quantized at 256 levels. Calculate
i Information Rate
ii. Sampling Rate
Discuss various techniques of controlling error in communication
system.

Write a short note.on ATM
Write short note on PSTN
OR

Write short note on

1. 1SDN

2. BISDN
Write short note on

1. Spread Spectrum.

2. Cellular telephony.

Write short note on Token ring. Explain how ring management is
done.
Explain how the collision handling is done in Ethemet.
OR
Compare cicuit switching and Packet switching,
Explain Bell 103, Bell 212 standards of Modem.
Write short note on losses in Optical Fibber,
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